VKLP

Si(x,,x,) = 2x, ¥ x, 7 max

fz(xl’xz) - X, + Sx, — max

fo(x,,x,) = x;, 7 3x, 77 max

za omezeni

<
x, T x, >3
O—x1<2,03x252
x1 X2 f1 f2 f3 skalarizace
2 1 5 -1 3.6
gl bl
3
vl V2 v3 suma
0.5 0.2 0.3




Minimaxové programovani

fi(x,,x,) = 2x, T x, 7 max

So(x,,x,) = x, T 5x, 7 max
X, ,x,) = x, 3x, ™ max

fg( 1 2) 1 2

za omezeni

x, T x, =3

0<x,£2,05x,=2

x1 X2 w f1 f2 f3

gl bl

w — max

za omezeni

_|_
2xl X,

+
X, 5x2

X, 3x2

+
'xl x2

<
Ox1

<

<

>

\%

v

3

w

w






Cilové programovani

fl(xllxz) - 2'xl + x2 - max

gql=3
fo(x,,x,) = x;, ¥ 5x, 7> max
Sfa(x,,x,) = x, — 3x, 77> max q2 =4
za omezeni qg3=5
x, T x, =3
0=x,2,05x,=2
x1 X2 dl hl d2 h2 d3 h3 f1
3
gl
1.778
-d- f-q
0 0
0 0
5.444| -5.444




d,td,Td, Y h tTh,* h, 7 min
za omezeni

x, Tx,=3
0=x,52,05x,52

—d, S2x, Tx,73%h
~d,<x, T5x, 4= h,
~d,<x, ~3x, 55h,

d 20,h 20,i=123

1

f2 f3 suma odch
4] -0.444| 5.44444444
bl
3
d+
0
0
0




